1. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?

COMPOSITION
Total BC AB SK/MB Ontario Quebec Atlantic <S40K S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L M N (0] P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 271 167 271 202 261 739 228 330 136 41 49 12 55 149
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
230 20 43 17 101 32 17 70 38 57 46 58 171 230 - - - - - - -
The Conservative Party 23% 15% 38% 28% 26% 13% 26% 22% 23% 23% 27% 23% 23% 95% - - - - - - -
273 41 26 14 117 59 16 74 42 79 56 69 204 - 273 - - - - - -
The Liberal Party 27% 31% 23% 23% 30% 25% 24% 23% 26% 32% 33% 28% 27% - 95% - - - - - -
120 34 12 11 39 20 4 50 18 21 22 22 99 - - 120 - - - - -
The New Democratic Party (NDP) 12% 26% 10% 17% 10% 8% 6% 16% 11% 9% 13% 9% 13% - - 95% - - - - -
44 1 - - - 43 - 13 11 13 4 7 37 - - - 44 - - - -
The Bloc Québécois (BQ) 4% 1% - - - 18% - 4% 7% 5% 2% 3% 5% - - - 96% - - - -
45 11 2 p 13 14 4 12 17 6 6 14 30 - - - - 45 - - -
The Green Party 4% 8% 1% 3% 3% 6% 5% 4% 11% 3% 3% 6% 4% - - - - 85% - - -
9 - 3 * 5 - * 2 1 3 3 2 7 - - - - - 9 - -
Other 1% - 3% 1% 1% - 1% 1% 1% 1% 2% 1% 1% - - - - - 83% - -
* E* * * * * %k * * %k * *
73 4 6 3 26 30 5 31 12 19 3 16 57 - - - - - - 73 -
Would not vote/None/Would spoil ballot 7% 3% 5% 4% 7% 12% 7% 10% 7% 8% 2% 6% 8% - - - - - - 92% -
206 22 21 15 84 43 21 69 24 46 29 59 147 12 15 7 2 8 2 6 155
Don't Know/Not sure 21% 17% 18% 24% 22% 18% 31% 22% 15% 19% 17% 24% 20% 5% 5% 5% 4% 15% 17% 8% 99%
- 1 - - - - - - 1 - - - - - - - - - 1
Don't know - 1% - - - - - - * - - - - - - - - - 1%
* * * * * %%k * * %k * *
1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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2. Well, which party would you say you would lean towards?

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <$100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J

K L M N (e} P Q R S T
Base: All Answering (unwtd) 198 15 17 24 73 41 28 59 28 46 35 50 148 10 17 9 2 6 1 5 148
Base: All Answering (wtd) 206 22 21 15 84 43 21 69 24 46 29 59 147 12 15 7 2 8 2 6 155
12 - 1 1 9 - * 1 1 2 2 2 10 12 - - - - - - -
The Conservative Party 6% - 4% 9% 11% - 2% 1% 5% 5% 6% 4% 6% 100% - - - - - - -
%k k% * % * * %k * %k * * %k k% %k k% * 3k k% * %k k% k%
15 5 1 1 4 2 1 5 3 2 2 2 13 - 15 - - - - - -
The Liberal Party 7% 21% 7% 9% 5% 5% 4% 7% 11% 4% 8% 3% 9% - 100% - - - - - -
%k kk * 3k * * %k * * 3k * * 3k k% %k k% * 3k kk * %k k% %k
7 - - 1 5 1 - 1 2 * 2 1 6 - - 7 - - - - -
The New Democratic Party (NDP) 3% - - 8% 6% 2% - 2% 10% 1% 9% 1% 4% - - 100% - - - - -
%k %k %k * * k% * %k * * 3k %k %k %k * 3k k% * 3k %k %k
2 - - - - 2 - - - 1 - - 2 - - - 2 - - - -
The Bloc Québécois (BQ) 1% - - - - 1% - - - 2% - - 1% - - - 100% - - - -
k% %k %k * * k% * * 3k * * 3k k% k% %k * 3k k% * 3k k% k%
8 1 1 - 5 1 * 6 1 - 2 6 2 - - - - 8 - - -
The Green Party 4% 4% 3% - 6% 2% 2% 8% 4% - 5% 10% 1% - - - - 100% - - -
%k k% %k * * k% * %k * * 3k k% %k k% * 3k k% * %k k% k%
2 2 - - - - - 2 - - - - 2 - - - - - 2 - -
Other 1% 8% - - - - - 3% - - - - 1% - - - - - 100% - -
%k k% * % * * %k * * % * * %k k% %k k% * %k k% * %k k% k%
6 3 - - 2 1 * 2 * 4 - - 6 - - - - - - 6 -
Would not vote/None/Would spoil ballot 3% 12% - - 2% 2% 2% 2% 2% 9% - - 4% - - - - - - 100% -
%k kk * 3k * * k% * %k * * %k k% %k kk * %k kk * %k k% %k
155 12 18 11 59 36 19 53 17 36 21 48 107 - - - - - - - 155
Don't Know/Not sure 75% 55% 86% 74% 70% 85% 90% 77% 69% 79% 72% 82% 73% - - - - - - - 100%
%k %k %k * * k% * %k * %k k% k% %k * 3k * %k * 3k %k %k
206 22 21 15 84 43 21 69 24 46 29 59 147 12 15 7 2 8 2 6 155
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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1_2. Fed Vote

COMPOSITION
Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L M N (0] P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 271 167 271 202 261 739 228 330 136 41 49 12 55 149
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
241 20 44 19 110 32 18 71 39 60 48 60 181 241 - - - - - - -
The Conservative Party 24% 15% 39% 30% 28% 13% 26% 22% 24% 24% 28% 24% 24% 100% - - - - - - -
288 46 27 15 122 61 17 79 45 81 58 71 217 - 288 - - - - - -
The Liberal Party 29% 34% 24% 25% 32% 26% 25% 25% 27% 33% 34% 29% 29% - 100% - - - - - -
127 34 12 12 44 21 4 51 21 22 24 22 105 - - 127 - - - - -
The New Democratic Party (NDP) 13% 26% 10% 19% 11% 9% 6% 16% 13% 9% 14% 9% 14% - - 100% - - - - -
45 1 - - - 45 - 13 11 14 4 7 38 - - - 45 - - - -
The Bloc Québécois (BQ) 5% 1% - - - 19% - 4% 7% 6% 2% 3% 5% - - - 100% - - - -
53 12 2 p 18 14 4 17 18 6 7 20 32 - - - - 53 - - -
The Green Party 5% 9% 2% 3% 5% 6% 6% 5% 11% 3% 4% 8% 4% - - - - 100% - - -
11 2 3 * 5 - * 4 1 3 3 2 9 - - - - - 11 - -
Other 1% 1% 3% 1% 1% - 1% 1% 1% 1% 2% 1% 1% - - - - - 100% - -
* E* * * * * %k * * %k * *
79 7 6 3 28 30 5 32 12 23 3 16 63 - - - - - - 79 -
Would not vote/None/Would spoil ballot 8% 5% 5% 4% 7% 13% 8% 10% 8% 9% 2% 6% 8% - - - - - - 100% -
155 12 18 11 59 36 19 53 17 36 21 48 107 - - - - - - - 155
Don't Know/Not sure 16% 9% 16% 18% 15% 15% 28% 16% 10% 15% 13% 20% 14% - - - - - - - 99%
- 1 - - - - - - 1 - - - - - - - - - 1
Don't know - 1% - - - - - - * - - - - - - - - - 1%
* * * * * %%k * * %k * *
1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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1_2x. Fed Vote

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total SK/MB Ontario Quebec Atlantic <$40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <$100K Conservati Party Democrati | Québécois Party vote/None | Know/Not

ve Party ¢ Party (BQ) /Would

(NDP) spoil ballot

Base: All Answering (unwtd) 796 105 82 80 279 181 69 206 139 217 174 211 585 228 330 136 41 49 12 - -
Base: All Answering (wtd) 765 115 88 48 298 172 43 235 135 185 145 183 582 241 288 127 45 53 11 - -
241 20 44 19 110 32 18 71 39 60 48 60 181 241 - - - - - - -

The Conservative Party 32% 17% 50% 39% 37% 18% 41% 30% 29% 32% 33% 33% 31% 100% - - - - - - -
288 46 27 15 122 61 17 79 45 81 58 71 217 - 288 - - - - - -

The Liberal Party 38% 40% 31% 32% 41% 35% 39% 34% 33% 44% 40% 39% 37% - 100% - - - - - -
127 34 12 12 44 21 4 51 21 22 24 22 105 - - 127 - - - - -

The New Democratic Party (NDP) 17% 30% 13% 25% 15% 12% 10% 22% 15% 12% 17% 12% 18% - - 100% - - - - -
45 1 - - - 45 - 13 11 14 4 7 38 - - - 45 - - - -

The Bloc Québécois (BQ) 6% 1% - - - 26% - 6% 8% 7% 3% 4% 7% - - - 100% - - - -
53 12 2 2 18 14 4 17 18 6 7 20 32 - - - - 53 - - -

The Green Party 7% 11% 3% 4% 6% 8% 9% 7% 14% 3% 5% 11% 6% - - - - 100% - - -
11 2 3 * 5 - * 4 1 3 3 2 9 - - - - - 11 - -

Other 1% 2% 4% 1% 2% - 1% 2% 1% 2% 2% 1% 2% - - - - - 100% - -

* E* * * * * k% * k%
79 7 6 3 28 30 5 32 12 23 3 16 63 - - - - - - 79 -

Would not vote/None/Would spoil ballot

155 12 18 11 59 36 19 53 17 36 21 48 107 - - - - - - - 155
Don't Know/Not sure
1 - 1 - - - - - - 1 - - 1 - - - - - - - 1
Don't know
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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2_1. To what extent do you approve or disapprove of the performance of the following people in response to the COVID-19 crisis? - Prime Minister Justin Trudeau

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total SK/MB Ontario Quebec Atlantic <$40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not

ve Party ¢ Party (BQ) /Would

(NDP) spoil ballot

Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 271 167 271 202 261 739 228 330 136 41 49 12 55 149
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
185 32 13 11 74 39 15 60 25 56 28 41 144 15 129 11 3 5 - 5 18
Strongly approve 18% 24% 12% 18% 19% 17% 23% 19% 15% 23% 17% 16% 19% 6% 45% 9% 6% 9% - 6% 11%
408 60 36 26 156 103 27 138 79 86 61 100 309 49 145 76 23 29 - 20 65
Somewhat approve 41% 45% 32% 42% 41% 43% 40% 43% 48% 35% 36% 40% 41% 20% 50% 60% 52% 55% - 26% 42%
204 24 15 10 77 64 14 65 26 55 35 51 153 61 8 30 9 17 1 30 48
Somewhat disapprove 20% 18% 13% 16% 20% 27% 21% 20% 16% 22% 21% 21% 20% 25% 3% 24% 20% 32% 7% 38% 31%
203 18 49 15 77 32 11 56 33 49 45 56 147 116 6 10 10 2 10 24 25
Strongly disapprove 20% 14% 43% 25% 20% 14% 16% 18% 20% 20% 27% 23% 20% 48% 2% 8% 22% 5% 93% 30% 16%
* ACDEF* E* * G NOQT N* *x * ok NOQ* N*
1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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2_2.To what extent do you approve or disapprove of the performance of the following people in response to the COVID-19 crisis? - Your provincial premier

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total SK/MB Ontario Quebec Atlantic <$40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <$100K Conservati Party Democrati | Québécois Party vote/None | Know/Not

ve Party ¢ Party (BQ) /Would

(NDP) spoil ballot

Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 271 167 271 202 261 739 228 330 136 41 49 12 55 149
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
222 30 6 7 88 71 20 79 39 56 36 39 183 64 73 20 20 11 - 6 28
Strongly approve 22% 22% 5% 12% 23% 30% 31% 25% 24% 23% 21% 16% 24% 27% 25% 16% 44% 21% - 7% 18%
435 67 44 25 183 88 28 127 73 100 82 104 331 118 126 58 17 20 * 26 70
Somewhat approve 43% 50% 39% 41% 47% 37% 41% 40% 45% 41% 49% 42% 44% 49% 44% 46% 36% 38% 3% 33% 45%
E* * * E * * kk * k% * *
227 32 30 21 74 53 16 73 30 63 31 76 150 39 62 21 5 18 6 31 45
Somewhat disapprove 23% 24% 27% 34% 19% 22% 23% 23% 18% 26% 19% 31% 20% 16% 21% 17% 10% 34% 56% 39% 29%
117 5 33 8 41 27 3 40 22 26 19 28 88 20 27 27 4 4 5 16 13
Strongly disapprove 12% 4% 29% 13% 11% 11% 5% 13% 13% 11% 11% 11% 12% 8% 10% 22% 9% 7% 41% 21% 8%
1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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2_6. To what extent do you approve or disapprove of the performance of the following people in response to the COVID-19 crisis? - Your local municipal mayor

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total SK/MB Ontario Quebec Atlantic <$40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <$100K Conservati Party Democrati | Québécois Party vote/None | Know/Not

ve Party ¢ Party (BQ) /Would

(NDP) spoil ballot

Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 271 167 271 202 261 739 228 330 136 41 49 12 55 149
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
149 16 8 8 68 35 15 45 23 51 20 32 116 42 56 12 8 6 - 7 17
Strongly approve 15% 12% 7% 13% 18% 15% 22% 14% 14% 21% 12% 13% 15% 17% 20% 10% 18% 11% - 8% 11%
561 85 67 36 197 140 36 181 97 130 86 123 438 119 173 75 32 28 3 42 88
Somewhat approve 56% 64% 59% 57% 51% 59% 53% 57% 59% 53% 51% 50% 58% 49% 60% 59% 71% 54% 25% 53% 56%
D* * * * M * kk * k% * *
223 24 26 12 96 50 15 72 33 50 47 69 154 64 47 32 4 15 2 22 37
Somewhat disapprove 22% 18% 23% 20% 25% 21% 23% 23% 20% 20% 28% 28% 20% 27% 16% 25% 8% 29% 19% 28% 24%
67 9 12 6 24 14 1 21 11 14 15 23 45 16 12 8 1 3 6 8 13
Strongly disapprove 7% 7% 11% 10% 6% 6% 2% 7% 7% 6% 9% 9% 6% 7% 4% 6% 2% 6% 56% 10% 9%
* * * * * k% * k% * *
1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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2B. When do you think an election will be called?

_
A B

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
C D E F G H | J K

L M N 0 P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 271 167 271 202 261 739 228 330 136 a1 49 12 55 149
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
96 18 8 6 31 27 5 51 11 16 13 31 65 20 18 14 2 5 1 15 20
Before the end of 2020 10% 13% 8% 10% 8% 11% 8% 16% 7% 6% 8% 12% 9% 8% 6% 11% 4% 10% 8% 19% 13%
235 31 36 14 105 35 15 72 41 56 42 54 181 78 45 26 10 14 4 25 31
Early in 2021 (~18 months into minority government's
mandate) 23% 23% 32% 23% 27% 15% 22% 23% 25% 23% 25% 22% 24% 32% 16% 21% 23% 27% 34% 32% 20%
237 35 24 18 87 60 14 60 48 66 42 60 177 56 75 37 14 15 3 5 31
Later in 2021 (~2 years into minority government's
mandate) 24% 26% 21% 28% 23% 25% 21% 19% 29% 27% 25% 24% 24% 23% 26% 29% 31% 29% 29% 6% 20%
104 10 11 9 31 34 9 36 19 23 18 17 87 28 36 10 10 4 1 4 10
In 2022 (3 years into minority government's mandate) 10% 7% 10% 15% 8% 14% 13% 11% 12% 9% 11% 7% 11% 12% 13% 8% 22% 7% 12% 6% 7%
* * * * * *k * *k * *
328 41 34 15 131 84 24 100 45 84 54 85 243 59 113 41 9 14 2 29 62
In October 2023 - when the next election is required by law. 330, 30% 30% 24% 34% 35% 37% 31% 27% 34% 32% 34% 32% 24% 39% 32% 20% 26% 17% 37% 40%
1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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2C. If an election is called prior to when it is required by law in October 2023, who would you blame most for causing it?

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J

K L M N 0 P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 271 167 271 202 261 739 228 330 136 41 49 12 55 149
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
266 38 41 19 98 58 12 77 43 72 57 65 202 112 50 29 19 7 7 15 25
Prime Minister Trudeau and the Liberals 27% 29% 37% 31% 25% 24% 18% 24% 26% 29% 34% 26% 27% 47% 17% 23% 43% 13% 66% 20% 16%
202 26 18 14 85 43 16 62 31 52 41 36 166 29 114 29 4 11 1 8 7
Erin O'Toole and the Conservatives 20% 19% 16% 23% 22% 18% 23% 19% 19% 21% 24% 15% 22% 12% 39% 23% 8% 22% 7% 10% 5%
43 7 2 3 21 8 3 18 5 13 7 17 26 13 9 14 1 4 ; 1 1
Jagmeet Singh and the NDP 4% 5% 2% 5% 5% 3% 4% 6% 3% 5% 4% 7% 3% 5% 3% 11% 2% 7% ; 1% 1%
39 8 3 1 3 21 4 19 6 8 4 14 25 4 17 3 7 6 ; 2 1
Yves-Francois Blanchet and the Bloc Quebecois 4% 6% 2% 1% 1% 9% 5% 6% 4% 3% 2% 6% 3% 2% 6% 2% 16% 11% ) 3% 1%
237 32 27 17 102 39 19 66 49 55 38 55 182 51 56 32 10 14 2 17 55
All of them, equally 24% 24% 24% 28% 27% 16% 28% 21% 30% 22% 22% 22% 24% 21% 19% 26% 22% 27% 19% 22% 35%
213 23 22 8 77 70 14 78 30 46 22 61 152 32 42 20 5 11 1 36 67
Nobody 21% 17% 20% 12% 20% 29% 20% 24% 18% 19% 13% 25% 20% 13% 15% 15% 10% 20% 8% 45% 43%
* * * ACD * J * sk * sk MNOQ* MNOQ*
1000 134 113 62 385 239 67 320 164 245 169 247 753 241 288 127 45 53 11 79 156
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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